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a[0]=1.0;
al11=0.0;
a[2]=-1.0;
b[1]=1.0;
b[2]=0.0;
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/*x IIR 7 4 VX2 B8%L =/
void iir(int n,double a[],double b[],dou
ble x,double *y,double w[])
{
int 1i,j;
*y=0.0;
w[0]=x;
for(i=0;i<=n;i++){
if (i=0)
for(j=1;j<=n,j++)
wlil+=b[j1*w[jl;
+y+=alil*w[i];

}
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IT=50

/*x V—7F x/

for(i=0;i<IT;i++){

/*x ANJNEFDRE */

x=2.0%sin(0.2*(double) i*3.1415926)+2.0
*cos ((double)i*3.1415926) ;
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h(n) = 1,1,0,0,0,0,0,- - -
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H(jwT) = _ h(n)
n=0

= h(0) + h(1)e 3T
=1+ coswT — jsinwT
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|H(jwT)| = /(1 + coswT)? + (—sinwT)?
= V2 + 2coswT
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—sinwT
1+ coswT
— _tan~Y( sinwT

1+ coswT

LH(jwT) = tan™(
)
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